
qm= ;+= of]hgfsf] gfd :yfg &]ufgf ljlgof]hg /sd ?= s}lkmot
s

kz' sfo{qmd 

  !  kz'kG%L cf}ifwL v/Lb augf;sfnL 2 100000.00
@=  nf]sn s'v'/f rNnf ljt/0f -%)Ü cg'bfgdf_ Æ 100000.00

hDdf 200000.00
s[lif ljsf; tkm{M

!= t/sf/L ljp ljhg v/Lb Æ 150000.00
 @= s[lif pkh ljiffbL vl/b Æ 50000.00
#= Ps 3/ Ps s/];faf/L -ldgL ls6 ljt/0f_ Æ 50000.00
$= Joj;flos Rofp v]lt lj:tf/ Æ 50000.00

hDdf M 300000.00
s'n hDdf 500000.00

v
!=  j8f:t/Lo ljh'nL alQ lj:tf/ - ;8s aQL_ Æ 100000.00

hDdf M 100000.00

! dlxnf M afv|f k}rf] sfo{qmd 50000.00
@

cflbjf;L hghftL M nf]sn s'v'/f rNnf ljt/0f sfo{qmd 50000.00
# ckfË M cfo cfh{gsf] nflu afv|f kfng sfo{qmd 50000.00
$ blnt blntsf nflu afv|f k}rf] sfo{qmd 50000.00
% h]i7 gful/s tkm{ h]i7 gful/s ;Ddfg sfo{qmd 50000.00
^ o''jf sfo{qmd M v]ns'b ;fdu|L vl/b 50000.00

hDdf M 300000.00
& afnaflnsf tkm{ M

!= j8f afn ;~hfn dfl;s a}7s 25000.00
@= j8f afn ;~hfnsf] sfo{of]hgf cg';f/sf] sfo{qmd 25000.00
#= j8f:t/df afn e]nf sfo{qmd ;~rfng 25000.00
$= afn ljjfx Go"lgs/0f ;DaGwL tflnd 25000.00

hDdf 100000.00
s'n hDdf 500000.00

u

1 j8f sfof{no b]lv s}gL vf]nf df]6/ af6f] 9nfO{ of]hgf j*f g+= 2 kf]v/fyf]s 1400000.00

2
gf}la;], alQ;], ;ftla;], k'l/g9fFk, nfnkf6L x'b} /ufxf l;rfO{ 
s'nf] of]hgf

j*f g+= 2 kf]v/fyf]s 500000.00

3
5ltjg, 98\ofg, lji0f' df=lj=, vfGb'nf :jfdL af]6 df]6/ af6f] 
lgdf{0f of]hgf

j*f g+= 2 kf]v/fyf]s 500000.00

4 tfg;]g vf]nf srj] lgdf{0f of]hgf j*f g+= 2 kf]v/fyf]s 500000.00

5 w/dkfgL–afFems6'jf df]6/ af6f] lgdf{0f of]hgf j*f g+= 2 kf]v/fyf]s 300000.00

nlIft ju{ 

k"jf{wf/ ljsf; If]q tk{m M

augf;sfnL ufp“kflnsf
2 g+= j*f sfof{no kf]v/fyf]s, kfNkf

cf= j= @)&&÷&* sf nflu j8f ;ldltaf6 kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M



qm= ;+= of]hgfsf] gfd :yfg &]ufgf ljlgof]hg /sd ?= s}lkmot
6 gf}lj;] zf}rfno lgdf{0f of]hgf j*f g+= 2 kf]v/fyf]s 100000.00

7 j8f:t/Lo df]6/af6f] dd{t tyf ;f]xf]/;fxf/ of]hgf j*f g+= 2 kf]v/fyf]s 200000.00

8 ;ftla;], 7l6of :jfdL af]6 rf}kf/L lgdf{0f of]hgf j*f g+= 2 kf]v/fyf]s 100000.00

9 nfnkf6L km8\s], lkKn], 7l6of df]6/ af6f] u|fj]n of]hgf j*f g+= 2 kf]v/fyf]s 200000.00
10 /lGhsf b]jL:yfg df]6/af6f] 9'+uf 5kfO{ of]hgf j*f g+= 2 kf]v/fyf]s 100000.00
11 lji0f' df=lj= efNs'g, cfFkrf}/ df]6/af6f] lgdf{0f of]hgf j*f g+= 2 kf]v/fyf]s 100000.00
12 /fwf :jfdL, cf]dzfGtL hfg] df]6/af6f] :tl/s/0f  of]hgf j*f g+= 2 kf]v/fyf]s 100000.00

hDdf M 4100000.00
#
! j8f sfof{no Joj:yfkg  j*f g+= 2 kf]v/fyf]s 100000.00
@ kf]v/fyf]s :jf:Yo rf}sL Joj:yfkg j*f g+= 2 kf]v/fyf]s 100000.00
# lji0f' df=lj= kmlg{r/ Joj:yfkg j*f g+= 2 kf]v/fyf]s 150000.00
$ hgtf k|f=lj= /Ë/f]ug oj:yfkg j*f g+= 2 kf]v/fyf]s 75000.00
%

1fgHof]tL ;fd'bflos ljBfno kmlg{r/ Joj:yfkg tyf /+u/f]ug
j*f g+= 2 kf]v/fyf]s 75000.00

hDdf 500000.00

s'n hDdf 5600000.00

!= 7'nf] :jfdL 7l6of j/lkkn l;rfO{ s'nf] lgdf{0f of]hgf
@= nfnkf6L b]lv 3/fxf l;rfO{ s"nf] lgdf{0f
#= 5ltjg vfg]kfgL of]hgf
$= dx]Gb| wf/f ;fd'bflos vfg]kfgL of]hgf
% s}gL vf]nf cfFkrf}/ vfg]kfgL of]hgf
^= lrlbof vfg]kfgL of]hgf

ufp+kflnsf dfkm{t k|b]zdf dfu ug]{ -&"nf of]hgfx?_M
!= lzj kfj{tL dlGb/ lgdf{0f of]hgf
@= /lGhsf b]jL dlGb/ tyf kf}jf lgdf{0f of]hgf
# b]p/fnL lzjfno dlGb/ lgdf{0f of]hgf
$ nfnkf6L dlGb/ lgdf{0f of]hgf
% lzjfno -gf}la;]_ dlGb/ lgdf{0f of]hgf

ufp“kflnsfdf dfu ug]{ of]hgfx?

;+:yfut ljsf; tyf ;]jf k|jfx / ;'zf;g If]q tk{m M


